(20 marks) Q(1):

(2) (10 marks) For the circuit shown in Fig.1.a, find the equivalent capacitance bctwcen
terminals a and b,
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i ; I “' i i i i ta tv 1 ina‘s d
o F ircuit shown in Fig.1.b, find the equivalent inductance between term aan
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(25 marks) Q(2): For the circuit shown in Fig. 2. _
(a) (15 marks) Find the Thévenin equivalent circuit for the circuit seen by the variable

resistor R.
(b) (10 marks) What value of R that will absorb maximum power from the other parts of
.. : . 5
the circuit, find this maximum power? R, ;\r& .
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) Q(3): For the circuit shown in Fig. 3.
Eo s

1. (8 marks) write the required Nodal equations.
2. (7 marks) Draw the dual

3. (15 marks) I the circuit
and iy.

circuit, show the numerical values of the different elements.
is in steady-state where v(t) = 5V and i(t) = 2A, then find V., i,
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(25 marks) Q(4): The variable dc voltage source V; in the circuit shown in Fig.4 is adjusted so
that i is zero, find the value of V.
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ro, find the value of V.
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